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Own) = tan - ' l-YIN)

(2) Ca) dF= Faff sincwtadr I
(b) LdEabs> = EqB÷cardrE
(dtref> = 2C dEabD

(C) LE) = 3 EoBo
⇐ all etat-EYE

(d) 8=34,7%3%3 a ( ( etat-t) counterclockwise

(3) Hotend = fdt.B-fftdoazcosotbsinTTTOI.TT
D= const ⇒ No Iend - O

(4) pBHiii. Esme

(5) The matchstick appears to-3.6cm to the left and
is aninverted with height Edgar . 1cm and magnification 0.52

(6) The difference in path lengths adjusted to free
- space is

1=2 . (1.4/3+3.72)=3352 @my constructive of mao=L
destructive is @+ *IMEI

(7) Oobserned = tan- ' (tan 101/4) where y -_ uh

(8) approaching at CB


